_SEGMENTS PROOFS |

DIrecHine: Complete the proofs below by giving the missing statements and reasons.

o Given: E is the midpoint of DF

4 —

D E }':
Prove: 2DE = DF
Statements Reasons
1. Eis the midpoint of DF 1, O\NP}(\
2. DE=EF 2 gf MP
3. DE + DE = DE + EF 3. v ditone
4. 2DE = DE + EF “ co /) Simplifu—
5. DE + EF = DF 5, WAL DA AR s
6. 2DE= DF & NWONRIHVE
K
Given: XL = IN, I = IN
Prove: L is the midpoint of XAz L N
M
Statements Reasons
1. KL = IN, IM = IN 1. Q\W
2. KL=IN, IM=LN 2490 £ ~
3. KL=IM 3 uUbSHRON
4. L is the midpoint of XiM 4. @,@ M Q

Given: Es E, U—Q’=" —QE
Prove: PS=TU

Statements

1. P_.QEE' U_QE@

2. PO=TQ, UQ = @S

3. PQ+0S=PS; TQ+ QU =TU

4. TQ + QS = PS

5. 70+ 0S=TU

6. PS=TU

7. PS=TU

N, W N
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J N
Given: K is the midpoint of JL, M is the midpoint of LN, » \
JK = MN
Prove: KL=a LM L
Statements Reasons
1. K is the midpoint of JT, n
M is the midpoint of LN )
2. JK=KL, LM =MN -
3. JK= MN 3.
4 MN =KL, LM=MN 4
5. LM =KL 5.
6. KL =LM 6.
7. KL= LM 7.
o Given: E a @, YZ =10 X y 7
Prove: \Z =TV . o
T U vV
Statements Reasons
1.XY 20V, YZ=2TU 1.
2. XY=UV.YZ=TU 2, )
3. XY+ YZ=XZ TU+UV=1V 3.
& UV+YZ=XZ YZ+UV=TV 'S
5.XZ =TV 5.
6. \Z=1V 6.
e —_— — —— X
@ Given: YW=1YZ, XY= 24 w
Prove: \Z= VW Y
v Z
Statements Reasons
1. WY=YZ, XY= VY 1.
2. WY=1YZ XY= VY 2,
3. XY+ YZ=1XZ 3.
4 VY+ YW=2XZ
5. VY + YW= VW 5.
6. XZ=IW 6. @
7. XZ= VW 7.
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o Given: E is the midpoint of 4C, DE = EC

Prove: DE=AFE

D = C

Statements Reasons
1. Eis the midpoint of AC 1. Givén
2. P\E -E=C 2, Definition of Midpoint
3. 6% —EC 3. Given
4. 4E=DE + WSt [ipshiovh an
5. A’"E_ = D_E_ 5. Definition of Congruence
6. DE=AE 6. S{)\YY\YYULJ‘Y | ‘¢

/

Given: RS = %RT

R S

T
Prove: S is the midpoint of RT
Statements Reasons
1. RS= ZRT L Quen
2. 2RS=RT 2 (YU D P\\ oSO
3 QS—\ S1= BT 3. Segment Addition Postulate
4. 2RS=RS+ ST + N0 NS HW\I{
5. AS= ST 5_ QUi chdr
- C 'y Yy MY of % | 6. Definition of Midpoint

Given: Mis the midpoint of LN,

ol

N'is the midpoint of 0 L M N

Prove: LM = NO
Statements Reasons

1. M s the midpoint of ZN 1.
2. IM=MN 2. Definition of Midpoint
3. 3. Given
4. MN =NO 4,
5 5. Transitive Property of Equality
6. 6. Definition of Congruence
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@ Given: Ylsthe midpolnt of Xz /
Prove: XY= —XZ L

« @

Statements Reasons
WS Yhe™MP of XZ | giveh
= Nz df o MP
XYY Z=XZ St pddahon
XY ¥ XY= XZ CUbshb b \
DAxN= Xz | CLA/ Qimplify
X Z5X2 VSO
Lo
Given: Zzg_f*, BC=DE y B C
Prove: AB=E
D E F
Statements Reasons
.\
i1
N @ Given: 4B = CD — —— .
1 Prove: AC = BD 4 B c D
] Statements Reasons
af
0
R —— oo

Scanned with CamScanner



